

$$P^{(n)}(x) = \frac{n!}{(1-x)^{n+1}} \quad \text{العرض:}$$

$$P^{(n+1)}(x) = \frac{(n+1)!}{(1-x)^{n+2}} \quad \text{الطبي:$$

الدنقات:  $\frac{d}{dx} \left( \frac{1}{(1-x)^{n+1}} \right) = \frac{(n+1)(1-x)^{-n-1}}{(1-x)^{2n+2}}$

$$\left( \frac{P^{(n)}}{f^{(n)}} \right)' = \frac{0 - (n+1)(1-x)^{-n-1}(-1)n!}{((1-x)^{n+1})^2}$$

$$f^{(n+1)}(x) = \frac{(n+1)n! (1-x)^n}{(1-x)^{2n+2}}$$

$$f^{(n+1)}(x) = \frac{(n+1)!}{(1-x)^{n+2}}$$

الدنقة كقمة  $n+1$  في  $x=1$   $\frac{d}{dx}$

$$f(x) = \frac{1}{1-x}$$

$$P^{(n)}(x) = \frac{n!}{(1-x)^{n+1}} \quad \text{ابنت ان}$$

$n=1$   $\frac{d}{dx} \left( \frac{1}{1-x} \right)$

$$P^{(n)}(x) = \frac{1!}{(1-x)^{1+1}} = \frac{1}{(1-x)^2}$$

نتيجة التخرج

$$P^{(n)}(x) = \frac{0 - (-1)(1)}{(1-x)^2} = \frac{1}{(1-x)^2}$$

الدنقة كقمة  $n+1$  في  $x=1$

### لقد استقار من مرات عليا

$$P(x) = 4x^3 + 5x^2 + 6x - 3$$

$$P'(x) = 12x^2 + 10x + 6$$

$$P''(x) = 24x + 10 \quad P'''(x) = 24$$

$$P^{(5)}(x) = 0$$

$$P^{(6)}(x) = 0$$

$$P(x) = \sin x$$

$$P' = \cos x$$

$$P'' = -\sin x$$

$$P^{(3)}(x) = -\cos x$$

$$P^{(4)}(x) = \sin x$$

$$P^{(n)}(x) = \frac{n! (n!) x^{n-1}}{n! x^{n+1}}$$

$$P^{(n)}(x) = \frac{n! (n!)}{x^{n+1}}$$

$$P^{(n)}(x) = \frac{(n!) \cdot n!}{x^{n+1}}$$

$$P^{(n)}(x) = \frac{(n!) \cdot n!}{x^{n+1}}$$

$$P^{(n)}(x) = \frac{(n!) \cdot n!}{x^{n+1}}$$

$$P^{(n)}(x) = \frac{(n!) \cdot n!}{x^{n+1}}$$

$$P^{(n)}(x) = \frac{n!}{(1-x)^{n+1}}$$

$$P^{(n)}(x) = \frac{(n+1)!}{(1-x)^{n+2}}$$

$$P^{(n)}(x) = \frac{(n+1)n!(1-x)^n}{(1-x)^{n+2}}$$

$$P^{(n)}(x) = \frac{(n+1)n!(1-x)^n}{(1-x)^{n+2}}$$

$$P^{(n)}(x) = \frac{(n+1)!}{(1-x)^{n+2}}$$

$$P^{(n)}(x) = \frac{n!}{(1-x)^{n+1}}$$

$$P^{(n)}(x) = \frac{1!}{(1-x)^{n+1}}$$

$$P^{(n)}(x) = \frac{0 - (1)(1)}{(1-x)^2}$$

$$P^{(n)}(x) = \frac{1}{(1-x)^2}$$

سؤال من مراتب علياً

$$P(x) = 4x^3 + 5x^2 + 6x - 2$$

$$P'(x) = 12x^2 + 10x + 6$$

$$P''(x) = 24x + 10$$

$$P'''(x) = 24$$

$$P^{(4)}(x) = 0$$

$$P^{(5)}(x) = 0$$

$$P(x) = \sin x$$

$$P'(x) = \cos x$$

$$P''(x) = -\sin x$$

$$P'''(x) = -\cos x$$

$$P^{(4)}(x) = \sin x$$



$$f^{(n+1)}(x) = \frac{(-1)^{n+1} (n+1)! x^n}{x^{2n+2}}$$

$$= \frac{(-1)^{n+1} (n+1)!}{x^{n+2}}$$

المدى كقوة سالبة  
 $n+1$  هو الأس  
 $n$  هو الأس

$$f^{(n)}(x) = \frac{(-1)^n \cdot n!}{x^{n+1}}$$

مدى  $n=1$  هو الأس

$$f'(x) = \frac{(-1)(1)!}{x^2} = -\frac{1}{x^2}$$

نقطة التماس  
 صفة

$$f''(x) = \frac{(-1)^2 \cdot 2!}{x^3} = \frac{2}{x^3}$$

القطب

$$f^{(n+1)}(x) = \frac{(-1)^{n+1} (n+1)!}{x^{n+2}}$$

القطب

نقطة التماس  
 نقطة الانعطاف

$$f^{(n)}(x) = \frac{0 - (n+1)x^n (-1)^n n!}{(x^{n+1})^2}$$

$$f^{(n+1)}(x) = \frac{(-1)^{n+1} (n+1)n! x^n}{x^{2n+2}}$$

$$f^{(n)}(x) = \frac{n!}{(1-x)^{n+1}}$$

العرض

$$f^{(n+1)}(x) = \frac{(n+1)!}{(1-x)^{n+2}}$$

القطب

نقطة التماس  
 نقطة الانعطاف

$$f^{(n)}(x) = \frac{0 - (n+1)(1-x)^n (-1)^n n!}{((1-x)^{n+1})^2}$$

$$f^{(n+1)}(x) = \frac{(n+1)n! (1-x)^n}{(1-x)^{2n+2}}$$

$$f^{(n+1)}(x) = \frac{(n+1)!}{(1-x)^{n+2}}$$

المدى كقوة سالبة  $n+1$  هو الأس  
 $n$  هو الأس

$$f(x) = \frac{1}{1-x}$$

المدى  $n=1$  هو الأس

$$f^{(n)}(x) = \frac{n!}{(1-x)^{n+1}}$$

المدى  $n=1$  هو الأس

$$f'(x) = \frac{1!}{(1-x)^2} = \frac{1}{(1-x)^2}$$

نقطة التماس

$$f''(x) = \frac{0 - (-1)(1)}{(1-x)^3} = \frac{1}{(1-x)^3}$$

المدى كقوة سالبة  $n=1$  هو الأس

المعادلة من مراتب عليا:

$$P(x) = 4x^3 + 5x^2 + 6x - 3$$

$$P'(x) = 12x^2 + 10x + 6$$

$$P''(x) = 24x + 10 \quad P'''(x) = 24$$

$$P^{(5)}(x) = 0 \quad P^{(6)}(x) = 0$$

$$P(x) = \sin x$$

$$P'(x) = \cos x \quad P''(x) = -\sin x$$

$$P'''(x) = -\cos x \quad P^{(4)}(x) = \sin x$$